4 | S < 2 1

Zgzz:;' 54:,49? 96 D::R 1: T:T SE%TE;NS (&) damsyse s DETAIL.. D! MITPURROSE REVISIONS
e pree 'AF 75 10 87 5 HETAL OPTIONAL DECORATIVE ’ S~ SETONAL crcomme | REY. NO.| ZONE: | DATE: ECN NO.| APFVD: DESCRIFTION
: 2'6" T 10°5° & s . a

ROES |45, 458 TN @ e s SECTION B-g§ " " ‘“sw‘x\ _ / i 0t - l12/12/07f —- —— | REVISED IMPACT RESISTANT GLAZING DETAILS.

S40RT / AUsH il [0 O3 PrRG ScRes STt cid v MR L ol = [nafe7] = — | REMOVED RIVETS/SCREWS FROM END STILES.

FO';“:Nj'g‘F‘”ﬁi—fﬁ-‘ﬁ“ = ¥ . s s S S a— 03 - |08/08/08 — — | ADDED 488.
L oo WSt SaUNL e SN b 20 W, B e \‘\ (ﬁfér%“r‘g‘(?gﬂﬁ?% 04 - 112/10/08 - — | MX HT WAS 12-0.
THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING}. - 10) 8 x 3/4° PAN HEAD
W, W7, W8, (1) INTERMEDIATE STHE BETWEEN EACH EMBOSS {(3} ONE-PIECE tcnon MACHINE SCREWS. 05 - 08/2008 - - REVISED FOR TDL
ANY OF THESE W-LEVELS MAY BE SHOWN ON THE STILES PER SECTION AT 9'0" WIDE]. EACH INTERM. :;&ngzf%%m
OFTIORAL SHIFPING LABEL ON THE END STLE STLE ATTACHED WiTH TOG-L-L0C (10F & BOTIOM} g T
AND URETHANE ADHESVE (ALONG CENTER).
T - END STILES ATTAGHED TG DQOR $KiN WITH PATENTED
i TOG-L-LOC SYSTEM (TOP, BOYIOM, & CENVER} -
ONE ROW OF IMPACT~RESISTANT GLAZING IN FITHER TOP SEQTION /7 SECTION A—A

{SHOWN) DR NEXT—TO-THE-TOP SECTION (NOT SHOWN).

MO, GLAZING SIZE IS 18-1/2° » 11°%, P
GLAZING (5 INJECTION MOLDED GE LEDIAN SLXR43ZT, AN APPROVED
COZ PLASTIC IN ACCORDANCE WITH ISC/FBC 2606, ,}%,fg‘ %ﬁ“%ﬁ" g"”
SEE SECTION 8w8 FOR ASSEMBLY DEW BRACKET ATTACHED W/(4)
#!4::5/5 SHEET METAL

SEE END HINGE
DETALL.

o soe gor
SEE INTERMED. HINGE
LOCH OGN
DETAIL. EACH SIDE
OF DOOR. 14 GA. GALV. STEEL END HINGE
LOCK POSITION (BOYH JOCK_QFROH ?AS?E»;&D TO/ ENDHS'?ILES wA{(é)
SIDES). SEE LAYOUT OF EACH #14x5/8™ SHEET MET. TS DOOR WEETS ToF FEQURENENTS OF W1
owﬁ: LSLDCK FOR gﬁﬁ ::l L?;m*%% gg:gg & (4) 1/47 $EIF TAPPING ARGE MISSILE IMPACT AND CYCLIC TESYING,
s -~ EACH SIDE OF DOGA, TS DOOR MELTS OR EXCLEDS THE DEaioN
SLE LOADS FOR THE WiND SPEEDS LISTED BELOW
r ITER. [ rotk ACCORDING 10 THE 2001 ﬂ.orelm BLDG CODE
STILE At ‘ o ' coN%meNsBC1{ ENCLOSE& BUII..BING Fg)&gg&;ﬁ
i " cuoe 3" TALL x 20 GA. GALV. STEEL SRR : i
: D . T
LE ~BAR, -BARS PER SECTION. - B HAS 2" OF WIDTH iN BUILDING'S END ZONE,
\_ Locamon oF L———-———A RSl o umc?rf RU-TL;VA% LAT?BA%T-(ED Eg\m - o 3} IMPORTANCE FACTOR OF 1.0, 4) ANY
OPTIONAL VENTS ook BR INSIDE HANDLE U-DAR ATTAGHED WITH 174" SELF . ROCE SLOPE, AND 5) SR SAFETY FACTOR,
MAX. DOOR WIBTH = §'-07 wmmmems—me] TRAGK Gt B A, TAPPING SCREWS. (2) SCREWS AT , WIND SPEED (MPH)[ < 140 150 1 150
INSIDE ELEVATION Pmorkemlocs AR EACH END AND INTERMED. STILE EXPOSURE LEVEL 18 or €] B3 C
. TICN. MEAN ROOF HEIGHT} 3¢° | 30°1 16
24 GA M, STEEL GALY, SKIN WITH A tocA
BAKEG ON PRIMER, AND A BAKED-CN POLYESTER

LHR TOP BRACKET

TOP COAT APPUEDC TO BOTH SIDES OF STEEL SK%N.\ DOUBLE HORIZONTAL

IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING LGCATION \, NOTE; TRACK CONFIGURATION

THERE ARE TWO ACCEPTABLE ALTERNATIVES: - ABOVE THE DOOR OPENING t

1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 7X6 SOUTHERN N —— CoRD RATNG OF s boon, ] Lo ik
YELLOW PINE WOOD JAMBS MOUNTED DIRECTILY TO THE SUPPORTING STRUCTURE TO ATTACHiED, Wi (2) #14x5/8" SHEET METAL SCREWS, HORIZONTAL TRACK SUPPORT @Y
CREATE THE MCUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED ALUMINUM. EXTRUSION ORT B
DIRECTLY 1O THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW & VINYL WEATHERSTRIP. DOOR INSTALLER (T )

DOORS OVER 8" TALL
HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW.

2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD
FRAMING MEMBERS), A 2X86 SOUTHERN YELLOW PINE WOOD BUCK QVER SHALL BE

HORIZONTAL TRACK SUPFORT BYW

, DOOR INSTALLER (TG SUIT)
8" TALL DOORS AND UNDER

13 GA. GALV. STEEL FLAG BRACKET.

EACH FASTENED YO WOOD JAME WiTH . L .
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT oLER o som TOR {5Y 5/16"x1-5/8" LAG SCREWS. SCSAFA%?E\;EST%LWFOLGE Savib s
FASTENERS LISTED BELOW., HOWEVER, THE JAMB3 ATTACHMENT FASTENERS MUST BE OF p 18 GA. MIN. GALV. STEEL END STLE * GALV., STEEL TRACK, (3} 5/16™x1-5/8" WOOD LAG SCREWS.
A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD /' 30 GA. GALV. STEEL INTER, STLE TRACK THICKNESS: .060" MIN. e
TO ENSURE PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS 245 YELLOW PINE JAME. N ", ' g | a0 YP. 2-1/2%12 GA. GALY. STEEL TRACK BRACKET, 3
OF THE SUPPORTING STRUCTURE. 12 GA GALV. STEEL TRACK g | O TRAGHK BRAGKETS PER SIDE (UP 10, 107 Hei. &
BRACKET FASTENED 0 WGOD /.Es TRACK BRACKETS PER SIDE EUP TO +2' HIGHD. S0
1172 FROM EDGE WSS'SB D\\’lgﬂsc%ﬁ %%Ggé;&{ér % 2 H DISTANCE BETWEEN FLAG ANG TOP TRACK BRACKET & i HEIGHT | "L
. | ' 18 G GALY. SFEEL INTER. HINGE a8 NOT ¥O EXCEED 30" & 1 . ol O
27 GALV. STEEL TRACK N e WL o i e tger] ! TN TR, THICKNESS: 080" [pourLZe:
' FASTENED 70 TRACK BRACKETS. EACH $14x5/87 SHEET METAL SCREWS, | «T¥P Fer T e U g e .
H EACH BRACKET ATTACHED WITH ONE 77167 PUSHNUY INSTALLED ON ROLLER SHAFT a i | ? 3.1807 =
i \ 1/47:5/8 @gL’i/ﬁ»N&ﬁm‘%ﬁ FOR UNRESTRICTED DGOR OPERATION. 9:71 —+— l; : :'l)g: w ﬂ\_
= i ' 14 GA. GALY. STEEL END HINGE FASTENED TO o [Toe T8 Lo roR BOORS GVER 2 TIP. 2-1/2"12 GA, GALV, STEEL TRACK BRACKET,
2R CONFIGURATION END STILES W/(4) EACH #14x5/8" SHEET METAL z B e [ S LG, TRACK 5 (4) TRACK BRACKETS PER SIDE.
SCREWS & {4) 1/4" SELF TAPPING SCREWS. 5 B ONFIGURATION SHALL NoT B
1457} o
= A D\ ey s s s on o ; oo e e J
ORIGINAL, DRAWINGS ARE SiGNED. N BLUE l —{FOR MORE. DETAL IF RQD- :ﬁ
VERTICAL JAMS_ ATTACHMENT (WODD FRAME BUILDINGS): NK WitH A RAISED SEAL (EMBOSS).
I/8°x3" LAG SCREWS ON 24" CENTERS. 1—1/3" 0.D. WASHER REQUIRED. LAG PREPARATION OF JAM THERS. e DL [RACK.LOW
SCREWS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH 3 TRACK AVAILABLE AS DESIGN LOADS: +48.0 PSF —54.0 PSF,
MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. NOTE: THE DESIGN OF THE NEEOED, TEST LOADS: +72.0 PSE —81.0 PSF.
VERTICAL JAMB_ATFACMMENT (C-90 BLOCK OR 2,000 PSt MN. CONCRETE COLUMNY: SUPPORTING STRUCTURAL ELEMENTS | ﬁ%%wggg ch%DF—UCf‘ngEl
3/8"x3" SLEEVE ANCHOR BOLFTS ON 18" CENTERS (2,000 PSI MIN. CONCRETE). ?E}E\U%R%EEE%%OSEEPSPSR%%g;DOEOR P ' PART NO.. MN/A
WASHERS INCLUDED W!TH SLEEVE ANCHORS. Unless Stated Otherwise ] n 8585 Duke Boulevard CLOPAY WINDLOAD RATING
OR THE BUILDING OR STRUCTURE AND TOLERANCES _ ﬁg QY losn, OF 45040 G54
1/4™x3" TAPCON SCREWS ON 15" CENTERS (2,000 PSI MIN. CONCRETE) OR 8" IN ACCORDANCE WITH CURRENT ore | Gow wu EB Y I No. 513-770-4800 \/\/ 8
CENTERS (C—90 BLOCK). 1" 0.0, WASHERS REQUIRED WITH TAPCONS. BUILDING CODES FOR THE LOADS 0 = +£.031 Bulding Products Compony Fox No. 5137704853
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH LISTED ON THE DRAWING. 00 = +.015 -
MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. _ : 000 = 5008 |CESCRIPTION: SHIPLAP PAN S'NG% C;‘R DOOR W'ND/COOE iTH IRL
N EN : K WESTERFIELD, P.E. - DRAWN BY: SH DATE: 10/23/06 SCALE: N/A
OTHER_JAMB_CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN CLoRIOn P gaaees, to Deurens = £ g‘gg
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPRGVE ALTERNATE FASTENERS NG P.E. 23832, ¢ CHECKED BY. SH DATE: —— SHEET 1 OF 1
4 I Stated Gtherwi
AND/OR JAMS CONFIGURATIONS. TEXAS P.E. #91513 DENSIONS. ARE I INGHES.| DWG. NO.. 103547 VER: DI

4 3 A 2 1




